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CPRI EXAMINATION

Candidate User ID (as per Admit card). Test Centre Name :
Exam Date : 19/12/2022 Exam Timing : 9:00 AM - 10:30 AM
Exam Name : TECHNICIAN GRADE 1

Note: Questions answered are highlighted with selection
1 Fufafed sieR saar B TTed 31&R THg S 9187 ABC, DBF, GBI, KBL, MBO, PBR

GBI

KBL (Correct Answer)
MBO

DBF

2 U v d s fenfial & i 3 68 §1 afe us faemif & 3 &1 80 & T 65 & Y H 7Teid dRid
fora a1, Y Shad  farait af bt s

4

3 (Correct Answer)
2

3 In the given sentence, identify the segment which contains a grammatical error. India export 12.01 million
tonnes of rice and four million tonnes of sugar in the last five years.

India export (Correct Answer)
Sugar in

Million tonnes

And four

4 3R 3R 3MRE b Y F I P i BT 3fcR 36 ¢ 3R 2 T8 18 IAB! 31T BT 3d 11 71 fa= auf a1,
JTDBT TG (SR 3HTR) BT ST 8:7 BT STRAT?

499
59y

6 ay (Correct Answer)
8 Iy

5 fufiiad o Q Ui (Aerosol) BT ITERUT T 87

ey
ka)
?j\’:ﬂ (Correct Answer)

TR

6 B8FNABCDEFGINHTIFFIFWID IRPIW | 4T C RGP aGIW 8, ol b & gad
Y TR YA RITGR| 2 TR A R D S TG 8, Sl G P Fhe® FW AT 81 Had U T80T A 3R F
% o9 @1 ® S B $ b 19 @ B 1 afe 91 £ R § Rgdn F | 781 @1 8, @ S19-91 9 P B
T H W e?

F

H (Correct Answer)
A

TQIATA AT H

7 SfCI-SIE WETS DI &1 ¢ 400 Hiex Td W &l FfddTd wU ¥ 25 Ahe H UR IRl 71 G 3! e
Tl 144 fFafieR/der 3R 165.6 ey /der B, df TaM fa=n & gad gU 98 Td guR &I fvd- I @ds
o) H UR B
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200
160
185
225 (Correct Answer)

8 fquwg Uy A, i efggal & 9 ddY A T |
feu e &l s, Syl & ogERu avd g1 fi e
FYF & HYR R 1D BT 1T DIoR R
ST S| &I gHul

PY:
U>H=G=N;E<N>W=0

I.G=E
IILH=N

WWIW%I (Correct Answer)
Fad ey || I 7

g e AT Ta

Fa ey 1T T g

34 famcusraad 1 A5 3 Hpfa H givrafa F gedfsed Aagrsadd sagdus
I gIfgel IR I@T SIS

CAP475233k96qbp

I. dqboNEEZSLPdYD
1. qdpaeAEES2TRIAD

l1l. CYb¢A2533Kaedpb
V. gbpo€AEES2TRIAD

|

Il (Correct Answer)
11}

I\

10 9 Gu T e 0y § $6 HYAl ayl 36T T80 Hd gL al
e Teemd 1 3R 11 52 U ) emuet fRT U Suel & 9 "
2. 1o @ AR Ry aa & i gl
i Frepuf &l ug @ik Fuffea & 5 fou e el H @ S
frpY GTaad: 14 91 B SdgaH BRd gY deaTd ©U ¥ fau
T HYAT BT ATERY Bl 5

DY

aﬁé cap. slap ﬂgf 3l
DS laps, slaps
oy

I a'ﬂ'gcap.‘ lap qﬁ %I

. gt laps, caps %I

I FHae FsHY | SR Bl §

I FHael B 1| SFER BT &

e a1 Y B | AT 11 STIR0T AT §

g T s | G-ﬁT:TEﬁII WW% (Correct Answer)

" Fill in the blank with the correct word.

No bomb was found on the airport premises as the caller
informed on the phone. The call proved to be a
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fox
Hoax (Correct Answer)
persuasion
knot

12 Pl § § SF 1 B gere 98 T8 82

YTeRT

EaLil

HHH (Correct Answer)
HgTHel

13 S 3 U ! Sams 24 I 7 3R SyR 31 F3oar 14 I B, oy forereman Siran § oiR wwag Bys &
T Fafid Rifirs & g: s o €1 afe fRifrs @t Garg 77v3 3 R, A fivifirs & BryeieR snuR @t
el fobertt 82

14 Qe
15 Qe
16 It (Correct Answer)
12 et

14  IRHMR RS afUd @ -

TGS °

ERUICE:

%GQ dliq A (Correct Answer)
UG

15 ahlet TT Tt AT Tk RaT TRt 8 qicHed ol g1 ah el

%

N

?

7R

(Correct Answer)

\Y | N

(A

16 &1 GHS B RITOHT fhy I gs ot

1825
1828 (Correct Answer)
1833
1842

17 Sudd Fafifad & 3 fea Isg o1 Jaded § -

HCH DI
EEEIEED)
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A B (Correct Answer)
TR B

SR 1 fvar forg aef s-man mmar ur

1123
1156 (Correct Answer)
1178
1189

In the following question, a sentence has been given in
Direct Speech. Out of the four alternatives suggested,
select the one which best expresses the same senfence in
Indirect Speech.

"I love to play cricket." he said.

He said that he loves to play cricket.

He said that he will love to play cricket.

He said that he would love to play cricket.

He said that he loved to play cricket. (Correct Answer)

In the following passage. some words have been left out
and replaced by a blank represented by a letter. First, read
the passage and try to understand what it is about. Then fill
in the blanks as per the questions given.

Actions, by themselves, have no power. They derive their
A from our intentions. Why get up in the
morming? Because we have a purpose. Why take
medicines? To heal. If that is the case. should we

B our actions C intentions? The
answer is apparent; the intentions need to be D
The intention is the purpose that E how we will

plan or act in a particular manner.

Which of the following word will fill in the blank B?

govern (Correct Answer)
governs

governing

governed

frofofed 8 3 & dea 9 & STRIRNERT 47

CHICD

&I

W‘R (Correct Answer)
[EIEEIN

fFufafaa uy & usaree 78 (2) & R TR &7 31 IMET? V(19 x 650 = 13 + 18.5 x 4) x 13 =72

418
415
413
416 (Correct Answer)

https://objection.tracker-cpri.onlineregistrationforms.com/candidate-response/candidate_id

416



12/23/22, 11:08 AM

24

25

26

27

28

29

ObjectionTracker

In the following passage, some words have been left out
and replaced by a blank represented by a letter. First, read
the passage and try to understand what it is about. Then fill
in the blanks as per the gquestions given.

Actions, by themselves, have no power. They derive their
A from our intentions. Why get up in the
moming? Because we have a purpose. Why take
medicines? To heal. If that is the case, should we

B our actions C intentions? The
answer is apparent; the intentions need to be D E
The intention is the purpose that E how we will

plan or act in a particular manner.

Which of the following word will fill in the blank D7

overseen (Correct Answer)
oversaw

oversee

overseeing

Fill in the blank with the Correct option in the context.

The British government successfully the
revolt of 1857.

repressed

suppressed (Correct Answer)
oppressed

pressed

. Arefa® A fod af o Uas IU-URHA] H07 B1 WIS Bt R ietar: =gei= e faa mare

1930
1932 (Correct Answer)
1934
1936

AfHT oS Fw.wa . (IFSC)PT Yot U a1 82

WW@WWW (Correct Answer)
N AR iR B

15 g B Up Ul H, STd @I DI dF RIF ST 3R RIMdRd foam Sirdn 8, i 98 < ®R ¥ odf g) wirdt
B Ufed & 918 BR T IYBT U BT I T UT?

4 (Correct Answer)

THqfG TS B U MYd R W, T Fi3d IR 4 auf & 51840 IU 3R 6 a6 H 74649.6 U B W1 51
Uigd I8 7 fSid ahgfa s dar 82

10368 ST (Correct Answer)
10241 ¥UY
10401 ¥UT
11426 ¥4

In the following question, a sentence has been given in
Passive Voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in
Active Voice.

The cake is being cut and distributed by Susie.
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Susie was cutting and distributing the cake.
Susie cut and distributed the cake.
Susie had been cutting and distributing the cake.
Susie is cutting and distributing the cake. (Correct Answer)

fau 7T faspeal § F 9ot H i 31&R FHE D1 1A BR. HANDWASH, KDNDWASH, ?, HANDZDSH,
HANDWAVK

HAQPVZSH

HAQGWASH (Correct Answer)
HAOPWASH

KDQGWASH

In the given sentence, identify the segment which contains the grammatical error. Though many people
think that heart issues are a "men's problem," heart disease affects more women then men.

Many people

Women then men (Correct Answer)
Issues are

Affects

B Aol HT SadT P & RIS DI 87

3rdYfa AT (Correct Answer)
faferom Safvma

Heob S 3fHa

grdd Rig

Tfe ABJURATION &I AJRTOBUAIN dR TR foraT SITdT €, df ACCOMPLISH bt ) forar simam?

ACMLSCOPIH (Correct Answer)
ACLMSCOIPH
AMCLOSCPIH
AMCLSCOPIH

Choose the word from the options that is most similar in
meaning to the given word.

Repellent

Autonomous

Unpleasant (Correct Answer)
Innocuous

Incessant

YR & IgUfe Ue & SefieaR & w0 & Sdl U B3 3 g foreht aufert ot grraw oy fepaeht 2t =nfewe

25 91
30 91t
35T (Correct Answer)
40 91

U TS IGYS B & THMIOR YSTI37 BT ST HHRE: 3; 5 § 9UT HaTs B TAMR Yol F 4 It 31fie

B 1 9 Tuds TS &1 & d 896 TR B, d THGT IS &I SHaTs 1 B

28 I (Correct Answer)
24 I
32
20 It

fafafad o @ frg ToT WeR 3 87d & § AMLAN (Tioan gad i) Srisa I far g2

HeRTE
Flch
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anfg=m (Correct Answer)

38 [giiad Uy ¥ uyaras® O9e (0) & H W aEr
3T F1gu?

(92x27+ BxT+)%=59

1090
1111
1105 (Correct Answer)
1087

39 gfe a BT 80% BT 75% Bl 12% =18 8. Al M- H Y
FI-9T T 82

Ladhl18% Pl 4% =24
11. 1200 T a% DI 30% = 720
III. a BT 6% = 21

Fad |

Fad il

Fad i

E:Tﬁf I $I'sc Tﬁﬁ (Correct Answer)

40 39 Gy &1 99 &Y. [or9¥ Wsal &1 3199 H dal
g&a%,sﬁw:ﬂ%ﬁnwm-wasm%aﬁa
|

faeery - sreqge

fayfaaea : sreger

TfeR : TSIl (Correct Answer)
TUMHIER : AR
fafsareR : R

9,18, 45, 135,472.5

[p—

41 R TR TS AT H g G Id Y 12, 6

8

18

10

6 (Correct Answer)

42 i A e F HE W I B e IR R a3 g
fAET ganr drea & T oih dr e 3R 9ea OET S AEaRT ose IO A 4r
s B
30

25

20

15

10

Rohan Shubham Saket Sushant Rishabh

m Totaltoffeesreceived  m Total Pastries received

g, A, T, FRATT, 3 RO ZART W10 el TAHT T T, Taame gan aier
T T T 17.8% & Toene ganr sier i eithr fr JEr A s

https://objection.tracker-cpri.onlineregistrationforms.com/candidate-response/candidate_id 7116



12/23/22, 11:08 AM ObjectionTracker

600
500 (Correct Answer)
400
540

43  fEAfafea ua § fou o fAwedl § T Jafda 31ert &1 987 &1 QNKH: GDAX : WTQN: ?

MKGD

MJGD (Correct Answer)
MUD

MJHD

44 TR x P13 AT R, - BT 3 UFT B, B 37 rHeT B R+ 1 3ref U B, Y Hfreafa 132-4+5/21-
7+5/12' BT AF a1 grm?

11
13 (Correct Answer)
17
21

45 In the following passage. some words have been left out
and replaced by a blank represented by a letter. First, read
the passage and trv to understand what it is about. Then fill
in the blanks as per the questions given.

Actions. by themselves, have no power. They derive their

A from our intentions. Why get up in the

moming? Because we have a purpose. Why take

medicines? To heal If that is the case, should we

B our actions C intentions? The
answer is apparent; the intentions need to be D s
The intention is the purpose that E how we will

plan or act in a particular manner.

Which of the following word will fill in the blank C?

and
but
or (Correct Answer)
for

46 TSHRUTI, HRA & 59 AeT & ARG U a1 Iod 87

A
Ffed

RIS (Correct Answer)

47 dton o Wt Rt Y 45 U0 UAS T ST § | UA® 9% & (oY HeRTe AnTd 30 30 § SR 39 fufor
ZhTS bl ToId B & [T Ufd g 2800 FUT BT 3das T & | Ufd T 1400 UL BT ATH HHM 5
fore 32 framt sp1eal o1 Sare 3R fowt Bt afew?

320
300
250
280 (Correct Answer)

48  Select the option that will improve the bracketed part of the sentence. In case no improvement is needed,
select ‘No improvement'. Peterkin readjusted his hat and was soon listening with (as much interest) as |
was.

so much interest
as many interests
so many interests
No Improvement. (Correct Answer)

49
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In the following passage. some words have been left out
and replaced by a blank represented by a letter. First, read
the passage and try to understand what it is about. Then fill
in the blanks as per the questions given.

Actions. by themselves, have no power. They derive their
A from our mtentions. Why get up in the
moming? Because we have a purpose. Why take
medicines? To heal If that is the case, should we

B our actions C mtentions? The
answer is apparent; the intentions need to be D .
The intention is the purpose that E how we will

plan or act in a particular manner.

Which of the following word will fill in the blank A7

weakness

strength (Correct Answer)
core

matter

Select the correctly spelt word.

exilerate

monotanous

meticulious

narrative (Correct Answer)

frofarea & 3 g frdt &1 s iaicr & 19 | ST ST 82

NIGAECEI Hdal (Correct Answer)
ERIECEY

a7t

eRIgE Hal

3 HHId & 9d7 Y of HeATai@d @l H AT AT

Problem Figures

7

0&0KOCHEB4OO

Ol

Answer Figures

B4OO049B|0©N

N\ L8N

(a) (b) (c)

A (Correct Answer)
B
@
D

T ST H $B I 71 12 fraom 9=t o wthe e @ ufarufid fasan sar 81 g8 ufssan 1 sifafved s
SIS} STt 81 31 ST H <R Y AR 2573 fhAm €1 BT T S P SR fba AE (ham ) # =i

off?

24
36
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30
27 (Correct Answer)

TfE 6124x78 Teh T 3ich} B TBAT ¢ ol 9 T AU B, Y (2x + 3) BT HM AT 2?

15
19 (Correct Answer)
17
21

FE oy . Sl FuT F 9 Gl § IR =y

fou g 81 2nusT fog 7o =t T 9" " e, A Bt
q Tdara gt o e wdta 819 811 Tt frsesf =1 afee
fipT oo Fifee 5 feg o et & © 9 o1 g ata

U Y ST BT &, 9 gdad a1 $= W B8l

A

T feaE, &1s Tl
FS TS, e gl
W:

(A T fpamE, gex 8l
®) T ez, [FaE gl
© IHT =1, fFaa Bl
O) FTE oL, FIs ol

A
B

D (Correct Answer)

T AT OE e O a9 & 1T U AT o e Rl 8

o T 7 o= Y = 5.50,00,000

Sale = expenditure + profit

Profit % = (profit'expenditure) x 100 %

7 2001 & HORT T WIE 10% ST, 2002 & 25% AT 31T 2003 & 40% =T, &7 2001, 2002 3T
2003 F TS HIY ST H HeO 2004 2005 F UF W HO & OEH F A

HFET |

52 :35 (Correct Answer)
49:26

3:2

36:23

A 3R B &I UT8U feh UaTg-aR 3 : 2 & AU § §, S 31! U W1 Wiel ol g ol 4 6 9 B ¢l Bl 1R
T &1 i urgd A 1 T Urgy Y 8, S bl Y 20 HE H WTet R Whdll ©, (S TR Th 1Y Wl ol g,

@ ¢l fra gma & 3t smwefe

159
60 °¢
304¢
20€c (Correct Answer)
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SIRIPI Ble! HETHY (FIH) & U 31edef & &Y H b 1 T 82

Tt BT ST

InEEI_C{ e DM (Correct Answer)
IRISICK]

oitg ot

Choose the word from the options that is opposite in
meaning to the given word.

Inadvertent

Unintentional

Impious

Deliberate (Correct Answer)
Peevish

In the following passage, some words have been left out
and replaced by a blank represented by a letter. First, read
the passage and try to understand what it is about. Then fill
in the blanks as per the questions given.

Actions, by themselves, have no power. They derive their
A from our intentions. Why get up in the
moming? Because we have a purpose. Why take
medicines? To heal. If that is the case, should we

B our actions C intentions? The
answer is apparent; the intentions need to be D .
The intention is the purpose that E how we will

plan or act in a particular manner.
Which of the followine word will fill in the blank E?

suggests

negates

makes

defines (Correct Answer)

U 6 & SMYR W 1000 HA (KVA) T HH &l & CRIBIER & (o {5 TSR BT 3Re0 HrieH fasan

ST AIeu?

S-S R ot Sirg HeeAl
THTER & 9d & ®R B oird

s (QTQQPIIT) 3R dieew @ o™ (Correct Answer)
gt wfeRiy o1 S

JY T BT A1 FA13T o AIAR 8] g, Sfeeh Wed & =9 & gHar g1

TWR AR (Correct Answer)
PIRGR RSN

o Hiex
Biferd Uiet HieY

= B aRHIYE faar T g -

BT TR &b =0 H Ul Y5 s U THGER IRR J e areit Foif|

T HIHeh &1 Wfad & Ad gRT T fGxn § Ifoid Jobr &t A

Ufd 3HTS I B0 YHTRT A gRT IAoid gHHER YaTg|

TAGGR YaTe Ufd SHTS & dead Ide ad Ugd @T =1 (Correct Answer)

Frafdfed 7 3 $H-3 =l o1 YfErd & gl R dad B 3ifard 781 82

EESEINEAN

HIA DI

DR DI T

37{1@?? DHIYDPR (Correct Answer)

https://objection.tracker-cpri.onlineregistrationforms.com/candidate-response/candidate_id

11/16



12/23/22, 11:08 AM ObjectionTracker

65 TR TRAT onfe S SYafeT R F IR 3R forue wfaRiy aR &1 IuahT e fhaast fmtor fasar Sar
2

FTe fher ufeRlys
AR-TUeTfaRIER (Correct Answer)
HTe T ufaRreht

UiERT ufeRiy®

66  Mufaad & ¥ S a1 el dier Bt grf v & FR e 3fe & Tad ufkwror &1 HR T 82
S SfaRTe FHMEISH
W&HWW (Correct Answer)
ATAE & 1Y uferiy ® uRad=
SR Sgfar

67  HfdT HA TP, 1Y e W S arelt 7= & el J ST gen Bl

ERSEA!

IR

o

FHiUex (Correct Answer)

68  TfoRld ¥U J IR STATGH(EMF) & Iadted & forg Fafeiaa & @ & It smawaddr Tl 82

qaPHg &

fagga &3 (Correct Answer)

HEFR

HEFeR 3R IPIg & & d Ire |

69 TP HHIRI & MHHDH FIGR B ___ & ©U § Giffpd bl o Tohal g

IRING TR

IFh%SITﬁﬁ YR (Correct Answer)
IRING TaRT

TS TaRT

70 Y D A1 Y@ dUCSRI SReR & TaY H Ted g7

WIS 9g P 1Y AR BT e diees sgar gl

3 SHfYFHAH T R UgeH & aIg Ig Ue Tl g

H\?\’Iﬁﬁ W%WQW*W%I (Correct Answer)
IS 9¢1 P IIY BIcS HC gl g

71 SHFCIAe GaRT 393 T ST arey 6 39aH0T &1 1 adisyl

TR & U

fomcie

[EERN

Ade (Correct Answer)

72 TH G9& & &l Yal B AN aTelt Hled-d 3@l B Yad Bl g

ECCIREE]
W 3{& (Correct Answer)
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ERCIRECER

9 Ufspan &1 T frfae Rred ey sraues @ il gR1 te o1d gadt uiq @1 9as R Fafd i 21

ﬁa@@ﬁﬂ (Correct Answer)
A e

oS

I

i fau T Hy=T 6 9 SIF I vel 82

1) TR e U 8l Tbdl &

2) IR ol U ¥ B4 gl Udhdl &

3) UTR Baex U 4 314 gl Tl &

4) TR e U 91 U O &4 gl Tdhdll &

1,2 33?4?@[%33?37[@5[% (Correct Answer)
4 e R 3R 1,23 Ted ®

23R 3TEIT IR 13N 4TAq®

Tt TE B

T UG 3feexer § Aex & w0 H &Y el |

TR (Correct Answer)
o
MR

9

i

_ AR H TS Yo § of HR H fFReR IIR-Ie1d & PRI BN B

Eﬁ"T (Correct Answer)
"R

< e

TR

WA & fardt foU MU Smads & ST &1 UM & GHMH d- & SoqqH & U & R avd &
fafiy o & T H 91 ST B

10 fE3h S

5 foTh Sfcras

4 &3 afems (Correct Answer)
20 feuht ey

feord arst |2

H@WWW@E@HWWWH@WI (Correct Answer)
HH Y & AT St & g o T Aol BT

T =18 3afdd Scii o1 ugdn TSt

Ugci IR a7 H ST IR St A1 AT

TH 3R Y&Rp 1R § {6 YR P WRIdcids BT SUTNT fohar il 87

M gl TR (Correct Answer)
U0 TR

PICKIBEACIN

Hrrearse

Rufifad 3§  oH Hia-oe ¥ & IuN &1 vl Hdl 82

DT IUANT BT ¥ ifafRad u1g &t Sterm & fore fvar san g1
TP ITTNT B TR T DT WhTER R & g fvar S g1
ST SUINT ST JUTE gl ¥ U1 g & fore fasan S g1
WWW@W%WWW%I (Correct Answer)
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81 Tt fagga &3 & Siidd U &1 gt § ST TaiY ! 31 Hed 57

LEREREE

SIGECREIC]

XY &l

Q\mftb—l?c’ (Correct Answer)

8 ot et &

l

E—}

BIETACE

yrRee

UeR &= (Correct Answer)
GIERISITSEE]

83 e widhe § Qe Widhe &1 yar A & fore Fw & ¥ o1 T v 3y I 82

THeR gRT U IR aciA UaTe &1 Tdhd fGAT ST € (Correct Answer)
Tt 3MYfef dieet diecHiex # i frar mar §

iR # aria uferty < fopar T @

e B ¥ adur S T i man §

84  BH S AXiHI A oA IRG STAU® & SNSRI UHTE BT HRUE HY B Jhd o7

W%WU%@WJ}[ mﬁqﬁaﬁ%ﬁmm (Correct Answer)
wics asfeT o wligR-o ggmr

TR & 1Y GAMTR & effagfd arfEm ugm s

wice arEfe & vafieR-e & &1 B

8 S 3UHLOT hl T&CoT T &THdT F4T 57

e

)
e ___3NGT N
@F\L OO;(-“\\\_;:RMCHET
'@f O~ £
— ~ NS
ok X S )

"~ HANDLE

0.46 At & 3.25 Rt (Correct Answer)
0.5 forft & 6 fareft

7.01 et 9 10.92 fareft

9.44 it ¥ 12.7 firet

86 P! @R diee oer Wi &gl S g
ST T SHNeR
SRt T FReR (Correct Answer)

87 U fFom & 3R Uw foig R firem areht auft wmran erait o1 it niordta an g grar 82

e &1 Tgdl ram (Correct Answer)
3 1 fam

P o1 Fam

fpars &1 gaxt oy

88 T 3R HUNS Sex H AAR JHaH P WER Bl

¥ IO + fdes Joam
JifAd JHAM + I THIH
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TiA® §IH + BR g
QF’T‘JW + Tic Wit HIR g (Correct Answer)

Trafaag &1 Frae e

FATA THHAB

) A0l om¥ &A A, wfade s = gy =Y

Ih 0.071nm & 38F 3R 1.000um TF | B. e =AW ZERT AT
=

III) 1.000 v=e# Wiowr & 70w = | C. &aw wiasT g@r A

I-C, I-A & IlI-B (Correct Answer)

I-A, 1I-B & 1II-C
I-C, I-B & 1II-C
I-B, II-A & llI-A

3 AT TR &F AW | ZARIS B TH(AC) Yfef it gt =nfgw?

WWU@%W“WW%QW@W%W (Correct Answer)

Hex g & HUA B AP & g
JUHRUN & 3R Aol ST B HH B & 1T
ISR & YOI 1A B HH A & forg

RIeeR &7 I B G TG (ECE)_ frciom/gas g1

1.1200

1.1300

1.182

1.1182 (Correct Answer)

ARG & SR, SIfe 81U & dor! DT 3R SRT A B
HIFR B M
me“r%m (Correct Answer)

YRT 1 o=
e Bt fa=m

I JUGHRT BT ATH T 7 FOrRIehT IuahT Sga=H UfeRkiY &1 A= & fore fosar oiar 82

TH I RIEH
AR (Correct Answer)
e Hier

YR Hiex

1 gl 8 Afe U 4Rael T | U U Ha=M Idc el SITal g7

g U Ti¢ Widhe PHT BRI G
Tg MU V FH et 3MITYE dleesl BT ITGT BN (Correct Answer)

I R &4 Y affaud g1 sl
dlces $fT3cye H Bl gaard gl

0 & O P19 91 U SYAIeR P i =i el 52

HH Shdl g3 dlbd (Correct Answer)
A TRty

it Afed

NEISICE

T gRefm areft A==t ¥ wu B Fifepa 5o o g g1

MRS Gl
e TaT (Correct Answer)
RIS T
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WIS TRl

97 Fofafad § 9 o9 o mE e RIuAT w1l & 1 Iugiv feu o aret ues! o) ardfde wifde fRufd &
SFIHM el 52

TTIT R

RITOAT o

TR 3NE (Correct Answer)
e oM

98 TH (AC) FURICR-UBR Hiex L& B & o o TR & HURIeR o1 IuaiT fobar oirar 87

ydiHd UHR S ATSCH HURTER
R-ydipd THR & RRfE HURCR
R-ydIPpd UHR & JAdCIAZeP HURIEY (Correct Answer)

ydigd YR &b RS HuReR

99  fufifed ® @ o Hege I & S o Hefid Far g2

AU Y 3 drge H A §1H & ey

S TYORM DI THAM I S & oy
aﬁawﬁwwmﬁ%awﬁ%%q (Correct Answer)
TS I8% HigH & forg

100  Tfe foredt fagga o & 4Ry 7 YRR ©, Y 10 fre & ag ot 3R vaifed g1 areht fdggd &t Tmm 31d Sifo |
70 A

4200 ®dH (Correct Answer)

0.7 AR
85.71 Herd
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